MATH 3204

Multiple Choice Assignment (Ch1B)


Place the letter of the correct answer in the space provided on the left. Justify your answer in the box provded.
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3. Which quadratic equation has imaginary roots?
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4. Which quadratic function has zeros of 
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5. What is the discriminant of the quadratic equation 
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A quadratic function 
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Which describes the roots of  
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imaginary and equal
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imaginary and unequal
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7. The graph of which function has x-intercepts of 
[image: image26.wmf](

)

5,0

 and 
[image: image27.wmf](

)

5,0

-

?

(A)

[image: image28.wmf]2

210

=--

yx


(B)

[image: image29.wmf]2

210

=-+

yx


(C)

[image: image30.wmf]2

210

yx

=+


[image: image93.wmf]x

y

(D)

[image: image31.wmf]2

210

yx

=-


8. Solve:  
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A quadratic function has vertex  
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What is the nature of the roots?


(A)
imaginary and equal

(B)
imaginary and unequal

(C)
real and equal

(D)
real and unequal
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12. Which represents the zero(s) of the quadratic function  
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13. For what values of ‘k’ does the equation  
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15. Which graph represents a quadratic function with non-real zeros?
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16. The discriminant for 
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17. What is the value of the discriminant for 
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18. What are the solutions for 
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19. What are the exact values of the roots for 
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20. A quadratic equation
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